eDIS

The cross sections for neutral- and charged-current deep inelastic scattering on
unpolarized nucleons can be written in terms of the structure functions in the generic

form
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where i« = NC, CC corresponds to neutral-current (eN — eX) or charged-current
(eN — vX or vN — eX) processes, respectively. For incoming neutrinos, LEZ of
Eq. (18.3) is still true, but with e, A corresponding to the outgoing charged lepton. In the
last term of Eq. (18.8), the — sign is taken for an incoming et or 7 and the + sign for an

incoming e~ or v. The factor nNC = 1 for unpolarized e beams, whereas*
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Differential Cross Section Comparison for PVDIS LH2 target
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Differential Cross Section Comparison for PVDIS LH2 target
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Rate Comparison for PVDIS LH2 target Q2>1
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Rate weighted

Rate weighted

Rate Comparison for PVDIS LH2 target
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Rate weighted

Rate weighted

Rate Comparison for PVDIS LD2 target Q2>1
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Rate Comparison for PVDIS LD2 target
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Rate Comparison for SIDIS 3He target
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Rate Comparison for SIDIS 3He target
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Rate Comparison

No window eDIS solid_inclusive_e

Single e trigger | FAEC FAEC FAEC+LGC+ | FAEC FAEC FAEC+LGC
Rate (kHz) +LGC | SPD +LGC +SPD

No cuts 70.37 | 64.49 59.70 136.01 126.29 | 116.28
Q2>1; W>2 57.81 | 53.77 50.02 109.17 101.67 | 94.05
Q2>1; W>3.5 |15.38 |14.29 13.48 23.62 22.05 20.70

PDF CT14: 138.398, 127.065, 116.964, 116.964

No window eDIS solid_inclusive_e
Single e trigger | LAEC FAEC+SPD | LAEC FAEC+SPD
Rate (kHz)

No cuts 4.5 4.1 5.7 5.2

(156.8+35-28.165-20.69) *14596* 1e3*30e9-62.6kHz

Total<111.4kHz
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Rate Comparison for PVDIS LH2 target
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Rate Comparison for PVDIS LH2 target Q2>1 W>3
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Kinematic Comparison for SIDIS 3He target q2>1
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Kinematic Comparison for SIDIS 3He target q2>1ws3
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